EH-IERAREE-ER

(KRERREAEEN) SH7ES5A290RE
HREE BEthALRRE
FRFHX EHRE
— XX E3 - R
A EEEEHT-HE B Eih X | J\BEH R BEHhK | K FH#h X HEH#ER
KW REROTHEFTRHRIDEEIZEZETIENFEIIEES
oK XEROTHETF TR R2QOEEIZEZETHENFEINEGE
5 A CEHRE) =t 20m/s, 8L 25m/s 20m/s et 20m/s, 8L 25m/s 20m/s
. . & F 20m/s, L 25m/s 20m/s [EE 20m/s, B.L 25m/s 20m/s
RAE (FHAR) F Vs, A 3
EEES EEHES EEHES EEHES
= o = om = o T 128 E DFEE25¢m Fih 128FFEFSE DFEE250m = o
- RE Eith 125%?551[5%50):*325cm,| Wittt 12B5RIPE S DiFES40cm WL 1285 FRIEE 0> % 400m Wit 12BSREEE 0 =400m ™! 1205 EIE E D iFEZ40cm
BRERES) 6.0m 6.0m
=i R ADOHETA CRIRSOELE(ZEET I ENFEINZEBES
PN REBEANDOHEA CRHRIODBEEIZEETLHENFREINLEBS
K XEEROTHETF TR RIDEEIZEZETHENFEINSEE
BRJE (1 ER) Bt 12m/s*% #BE 15m/s 12m/s BELE 12m/s, 8L 15m/s 12m/s
BE (EHEE) fE 12mé§'*2, #BLE 15m/s 12m/s~ fEE 12m/s, zﬁ_J: 15m/s 12m/s
&S EXGaP) EEH#S EHES
= - 2 S N 2o - i 12FREIEE DES15cm i 1265FEE DFES15cm = 1 m
RE Eith 1253'fFEﬁB¢50)/>§é15cm,l itth 128FREIFEE D FES25cm WL 1285FRIEE 0 < 250m Wit 2B RSREE ) R 250m ™ 1205 REIEE D iFES25¢cm
BRERER) 3.0m 3.0m
i3 (= RBEADOHETA CRIRSOBEE(ZEETEENFEINDZEBS
£ EEZFICKYBEELNFEINDES
ME
E [BE @R BEL 100m, L 500m 100m | BEL 100m, ;L 500m 100m
8718 R/INEEA0% TEEEGCS%
] DEEDFES30cmEl L HYBEE D FES40cmEl L
. QWAL DOIEEDFEE60cmLL EHYRDUNT hh
- 1 BEsEsscH L™’
2 MEYDRERR
KR BlESE-4CUT* | BIESE-4CUT "’
5 BEY ®EYH RESEICUT
&K
- 128 B OFES i 15emblE Wi250miL k
== KB :-2°C~2°C

R EEEATIEE (1 B E)

90mm

*TRIL(F A R) QEAIEX55cmE B RET B,
2L (T AT R) DEREIZ15m/sE B RET B,
*ERILN(T A R) DEAIEL35cmE B RET S,
P ERERSRREDIE,

* P SRR TR S R BRI OIE,




